
10
18

0
7,

A
41

2

Hub Kits 
Super Lube Hub include: 
Bearings, seals, dust cap, 

cotter key, and lug nuts or bolts  

 

Also available in GalvX - Pre-greased & assembled or non-greased & assembled 

Nut Locking Pin 
eliminates grease leakage 
during the lubrication process 

Easily accessible grease channel 
with grease fitting 

Rubber expansion access 
cap allows grease to expand 
and contract, also 
simplifies repacking  

Dust cap reservoir 

Double lip spring grease seal 

Completely sealed grease 
reservoir chamber permits 
maximum lubrication  

Description E-Coat # GalvX #
4 Hole/ Bolt SUPER LUBE Hub Kit (1250#)  1" inner & outer bearings, with bolts  81005 81009

4 Hole/ Bolt SUPER LUBE Hub Kit (1350#) 1-1/16" inner & outer bearings, with bolts 81010 81014

4 Stud SUPER LUBE Hub Kit (1250#) 1" inner & outer bearings, with lug nuts 81015 81019

4 Stud SUPER LUBE Hub Kit (1350#) 1-1/16" inner & outer bearings, with lug nuts 81020 81024

5 Hole/ Bolt SUPER LUBE Hub Kit (1250#) 1" inner & outer bearings, with bolts 81025 81029

5 Hole/ Bolt SUPER LUBE Hub Kit (1350#) 1-1/16" inner & outer bearings, with bolts 81030 81034

5 Stud SUPER LUBE Hub Kit (1250#) 1" inner & outer bearings, with lug nuts 81035 81039

5 Stud SUPER LUBE Hub Kit (1350#) 1-1/16" inner & outer bearings, with lug nuts 81040 81044

5 Stud SUPER LUBE UHI Hub Kit (1750#) 1-3/8" inner & 1-1/16" outer bearings with lug nuts, for tapered spindles 81045 81049


